1. a(y-3)+4(3-y) & I5EslstA?

D -(y+3)(a+4) @ (y+3)(a+4)
® 4a(y-3) @ 0-3)a-4)
® (y-3)(a+4)

a(y—-3)+4@3-y) =aly-3)—4(-3+y)
=(y-3)(a-4)




S F 64a% - 16a + 1 9] 2142l ALY

D 4a-1 @ 8-a ® 1-8a

®)8a—1 ® 4a+1

64a? — 16a+1 = (8a—1)2




QA5H3] BAL o] g5te] the AL Atstelet.

32-52472-924+112-132

Ch "
=

[ 2
> =g 96

(£4]) = 3-5)3+5 + (7T-9((7+9 +
(11-13) (11 +13) = —2(8 + 16 + 24) = -96




(cta)(x-3) =25 Aol a+bO FHL? (Fb>0)

® -9 @ -3 ® -1 @ 3

®s

B

(x+a)(x=3)=x*>+ (a-3)x—3a = x*> - b?
a-3=0°22 q=3

b?> =3a=9

b=3(:b>0)

L a+b=6




5.

(3x = 2)(3x + 2y — 2) &] FAZRA oA x O] Al=?

O -16 @—12 ® -8 @ 4

B

(3x—2) = AR X|gstHA
(FolX A=A (A +2y)

= A? 4 2Ay

A=3x-2E5 HJstH
(3x—2)% +2(3x - 2)y

= 9x% — 12x + 4 + 6xy — 4y?
o2hA x o] A= —120]t




ax? + 24x 49 ©] SRAAFA o] ©7] 915t o o] gL Fsfeler.

> E

> =g 16

M =2x Vax3°|E2 ya=4 . a=16




—41, -22, -14, -13, 13, 14, 22, 41




D)2x+5 @)x-3

@ 2x-5 ® 2x+3

2x2 — x—15 = (2x + 5)(x - 3)




9. =T st urEA 2 ALY

@ 4a? - 2ab = 2a(a - b)

@ x? 4 20x—100 = (x + 10)?
@ —x2+1=(x+1)(-x-1)

@ x2-Tx+12= (x-2)(x—6)

@10x2 +23x—21 = (x+3)(10x-17)

B

@ 4a? - 2ab = 2a(2a - b)

@ x? 4+ 20x - 100 = (x — 10)2
@-x+1=-(x+1)(x-1)
@ x?-Tx+12=(x-3)(x—4)




1
I - x4+

6

1
—Zx—2Z

6

10. o= F #?

1
3

® x+

® x+1 @ x-1

D!

1
2

® x+




11.

@ b] = (a+b)2 Do, [2x, —3y] - 2x [-x, 2] B 73] 547

@ 2x2_4xy—2y2 @ 2x2—4xy+2y2
©®)2x? - axy + 52 @ 2x° + dxy +)?

® 2x% + 4xy + 4y?

(2x - 3y)2 — 2 x (—x + 2y)?
= 4x% - 12xy + 9y — 2(x2 — dxy + 4?)
= 2x2 — 4xy +y?




12, o8 3 oA At e s
© (30-2) @ (Zy-3)
@_ (-gy+3x)2 @ {— (3x—§y>}2

5 2
©) <3x+ §y> ~ 30xy

~&B

2
D, Q,d,® :9x2 - 15x + Z5y2

25
® :-9x2 + 15x — Zy2




13, (x—2)(x% +4)(x + 2)2 AA5HA?

D x2-16 @ x*+4 ® xt-4
C@)x4—16 ® x*+4

(x=2)(x+2)(x>+4) =(x2-4)(x> +4) =x* - 16




14. (x+a)(x=-3)=x>+bx+11 € W, a + b 2] Zt2?

31 29 28
@) -3 @ -10 ® Y @ 3 ® -9

~&B

(x+a)(x-3)=x+(a-3)-3a= x> +bx+ 11
a-3=>b,-3a=11
11 20 31

Eq'al'/qa:—g,b:—? O]Ei,a—i—b:—? O]E]'




15. o3 24 g HEo] Yol& 402 YePH-E o], ab 2] AlSTE
“otof et
> =
> 3E: 1

(a+ 2b)(a - b) = a® + ab - 2b*
w2hA] ab O] A= 101t




16.

D 5.8x6.2 ® 51x49

@ 98 x 102 6

D, @, ®, @ (a+b)(a-b) =a* - b?
@(X"‘(l)(X"‘b):x +(a+b)x+(1b




17. 6x>+ax+15= (2x+b)(cx+5) °l1 a,b,c =FTE W, a+b+c
o] k22

O 21 @ 22 ® 23 @ 24 @25

6x2 + ax + 15 = 2cx? + (10 + be)x + 5b
2c =6, 5b =15, 10+ bc = a
c=3,b=3,a=19

L a+b+c=25




18. thg 27} o] Wolvh 9 + 1254 9 AAZHE 2] el ] Zol=?

Ho)=92*-122+4

O 6x @)12x+ 8 ® 6x+2
@ 2x ® 4

9x% +12x + 4 = (3x + 2)?
utebA] Se9] Aol 4 x (3x+2) = 12x + 8 o]tk




oA S AFEAWtHE Py + 47 + 2x(y +4) -8 =
(v +Ax+B)(xy+Cx+D) €W, A+B+C+D 9 F& 73t

y+4 =12 34A

X(y+4)2+2x(y+4)-8

= X212 +2xt -8

= (xt+4) (xt - 2)

={x(y+4)+4} {x(r+4) -2}

= (xy+4x+4) (xy + 4x - 2)

et A=B=C=4,D=-2°22 A+B+C+D=10
oJtt,




20. xy-x+y-1=(@x-a)(y+b)7t 4HL W, a+ b 9 G2 75t
2t (2, b <0)




21. (a+b+2)?—(—a+b-2) S A5EFHH?

® 2(a+b+2) @ 4(a-b-2) ® 4a(b+1)
@ da(b+2) @) p(a+2)

B

(@a+b+2)?%-(-a+b-2)>2
={(a+b+2)+(-a+b-2)}
{la+b+2)-(-a+b-2)}
= 2h(2a + 4)

=4b(a+2)




¥ -y +8x+4y+12

@ (x+y+3)(x-y+4)
® (x+y+2)(x+y+6)
@(x+y+2)(x—y+6)

@ (x+y+4)(x-y+3)

@ (x+y-2)(x-y-6)

¥+ 8x- (2 -4y-12)
=x*+8x—(y+2)(y-6)
=x+y+2)(x-y+6)




N
W
S
1o
P
>
Sis
M
o
Q

i)
Fl
o

S, (a+3)29] #

>
[> ®MEF: 84247

O
=

afolat,

a=V7-2
(a+3)2=(VT-2+3)%2=(V7T+1)?
=742V7+1
=8+2V7




\VARR 4
0
iy

=3V5 A o, 5 + J%I" T-5tofzt,

215




25. x2-49+1dy—y? o] x O] AG7H1 Q1 F AR 0] FOoz A H T
o, 5 lxtAle] g Fat?

® 2(x-y) @ y+14 @Qx

@ 2x-2y-7 ® x-y+2

- (- 14y +49) =x2—(y-17)32
=(@+y=-7(x-y+7)
SxFy-7+(x-y+7) =2x




